Q-1

eng

ST-008 RRB CLERK (PRE) 2020

The position of the first and the sixth digits in the number ‘1208364987’ are interchanged, similarly the positions of the second and the seventh digits are
interchanged and so on. Which of the following will be the sixth digit from the left end after the rearrangement?

01. § 02. 1
03. 6 04. 2
05. 0

AT ©1208364987° | Tl T S 3l o TATAI Hl ATH § TLEIT TaA (AT TTAT &, THT THTL THL ST ATAS (1 o6 T o199 H 92 (27 I
& ST s off THT YT, qEeaeT F aTe A ® F A A7 a1 g ¥ gt 6F g

01. 8 02. 1
03. ¢ 04. 2
05. ¢

Solution for Question 1

eng

hi

Q-2

eng

1208364987
6498712083

1208364987
6498712083

How many such pairs of letters are there in the word "GAMEVERSION’ each of which has as many letters between them in the word as in the English
alphabet?

01. Five 02. Six
03. None 04. Nine
05. Four

9757 *"GAMEVERSION’ #, s7&721 % UH e S1s ¢ [oaH & To4 & A1 9153 H I a1 A< 2, S 61 30 ar= SRS a0raren | 2id 22

01. o= 02. 7
03. aﬁé:r@ 04. =t
05. 91

Solution for Question 2

eng

hi

GAMEVERSION = AE, RS, NO, NR, OR, SV
GAMEVERSION = AE, RS, NO, NR, OR, SV

Passage for Question 3, 4, 5, 6, 7 (ST-006RRBCLERKPRE(3-7R)2020)
eng Passage

In a certain code language some words are written in coded form which are given below:

‘Winter Dear Lock Human’ is written as ‘sh Ih th ch’
‘Lock Land Dear Magic’ is written as ‘mh lh ph sh’
‘Magic Dear Craft Fear’ is written as ‘sh th eh ph’
‘Fear Human Land Luck’ is written as ‘th mh nh eh’
‘Luck Winter Lock Craft’ is written as ‘th 1h ch nh’

hi Passage
uF i3 gz aTarH gy ast Fre w4 9@ S1a § 9 o A= g T g

“Winter Dear Lock Human’ #T ‘sh 1h th ch’ for@T smar g1
‘Lock Land Dear Magic’ & ‘mh Ih ph sh’ foraT srar %fl
‘Magic Dear Craft Fear’ #T ‘sh th eh ph’ forEm SmaT 21
‘Fear Human Land Luck’ #T ‘th mh nh eh’ foraT ST 21
‘Luck Winter Lock Craft’ T ‘fh Ih ch nh’ feraT ST g1

Q-3

What is the code for ‘Land’?



eng

01. ph
03. ¢h

05. ch
‘Land’ ¥ forT =47 12 32

01. ph

03. sh

05. ch
Solution for Question 3

02.
04.

02.
04.

=t

=

eng

Dear Human
Land _Dear.
Dear [Craﬁ Fear
Human Land  <Luck/
@

Fear

s [6] 0 @)
mh [] (Gh) sh
sh [m]] en
o mh @ eh
] [m] & @

- Dear Human

Land _Dear.
Human Land  SLuck/
@

Fear

Fear

s [1] 0 @)
.m.h_ﬂ
sh [ eh
o omh O eh
] [n] & @

Q-4 What is the code for ‘Craft’?
eng

01. sh 02. h

03. fh 04. ¢h

05. mh
Q-4 ‘Craft’ % oo 1 #e 2?
hi

01. sh 02. h

03. fh 04. ¢h

05. mh
Solution for Question 4

Hx

eng Dear Huﬁan _sh m th @

Land _Dear
W e ol
@

Fear

Fear

.m.h_[E sh
s_h eh
};ﬁ r_'n_l'i_@ eh

] [n] @) @

8 Dear Human
Land _Dear
Dear |[Craft | Fear
Human Land < Luck/
=

Fear

s (6] @)
.m.h.[E sh
s_h eh
};I'}: r:n!'i_@ eh

(] [n] @ @

What is the code for “Winter’?

Q-5

eng



01. h 02. c¢h
03. fy 04. th
05. sh
Q-5 ‘Winter” % forT 7471 #e 27
hi
01. h 02. ch
03. fy 04. th
05. «h
Solution for Question 5
Dear Hivan s [B] 0 @
Land _Dear mh [in] (pn) sh
Dear [Craﬂ Fear sh eh
Fear Hujgzan Land @ };I'}: r:n!'u_@ eh
=y ] & @
B Dear Hu’f‘f)snan _sh @ t,;:x @
land  Dear mh [in] (ph) sh
Dear [Craﬂ Fear sh eh
Fear Huyf:an Land @ j;li r:n!'u_@ eh
Y 5o ®
Q-6 Code “eh’ is for which word?
eng
01. Land 02. Human
03. Fear 04. Dear
05. Lock
Q-6 FTE ‘eh’ FoheT orsa & forw 22
hi
01. Land 02. Human
03. Fear 04. Dear
05. Lock
Solution for Question 6
M W) Dear Hiian  sh [h] ® (oR)
land _Dear mh [in] (ph) sh
Dear [Craﬂ Fear sh eh
Fear Huyf;an Land @ ﬁ r_'n_l'u_@ eh
T W @ @
5 Dear Huﬁan _sh m ':;Ix @
Land _Dear m [n] (6n) sh
Dear [Craﬂ Fear sh eh
Fear Human Land @ }:ﬁ r_'n_l'u_@ eh
Lusk/ ] & @
Q-7 Code ‘th’ is for which word?
eng

01. Lucky

02.

Dear



Q-7

03. Magic
05. Human

#re “th’ T ersg 3 oo €2

01. Lucky
03. Magic
05. Human

Solution for Question 7

eng

Q-8

eng

eng

———,
-

Lock Land
C@@, Dear.

XX
Fear

/_‘—'—'_—--..
Mir) Dear
Land

Human

Ty @) [

[ Craft Fear
Land < Lucky
[Cra]
Lock Huﬁan
Dear Q@

@ Dear [Craﬁ Fear

Fear

XX
Human

W i,
Land  <Lucky

Luck/  (Winter) [cat]

The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are

04. Winter

02. Dear
04. Winter

s [1] @)

KK
th  mh inh eh

BH © ®
s (6] @)

XX
th mh nh/ eh

BE®®

sufficient for answering the question. Mark answer-

On which floor of the building does P stay? (The building has five floors — 1, 2, 3, 4, 5)

I. P does not stay on an odd number floor.
I1. P stays on a prime number floor.

01. Ifstatement I alone is sufficient but
statement II alone is not sufficient.

03. If each statement alone (either I or IT) is

sufficient.

05. Ifboth statement together are sufficient, but

neither statement alone is sufficient.

T R TT ¥t & ST FAATF ATEAT F FH ATARTAT VML § sIHT g oty F2a7 § B 1 Foray & STwd araardd IqCITH

g aafa g1 sTedifve-

TATYA % fohe W51 9% P 382ar 82 (THTA HFH: -1, 2, 3, 4, 5 7= "#irt g1)
L. P fao ST Attt HiSre 9% 721 382aT gl

IL P ST HEAT ATe(T Hivrer 9 3gar 2l

01. =f Fae F97 [ &1 TATH & AT Hae

A 11 &1

03. rf YT FoF bl (AT AT [ AT D) Tt 04, {3 [ 37 [ <A1 o e g1

2l

05. =g F=T Fa9 [T 11 UF 9T 9379 3
AT STET-3TeRT T9TH 721 2l

Solution for Question 8

P does not stay on an odd no. floor 1, 3, 5.
P stay on Prime no. floor 2, 3, 5.
From both, we get P does not stay on floor 1, 3, 4, 5

so, P stay on floor 2.

02.

04. TIf statement I and II together are not sufficient.

02. 7f Fae Fo0 11 &f TATH § AT 1ad F99 [ T

P farow s aret w91 1, 3, 5 9% 78l S5t gl

P STATST H&AT ATeAT HiOT 2, 3, 5 9 82T 2l

T, W AT 2rar ¢ 3 P Ao 1, 3, 4, 5 9 981 sgLar 2l

If statement II alone is sufficient but statement I alone is not sufficient.



Q-9

eng

eng

ZHferT P w5 2 T AT 2

The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are
sufficient for answering the question. Mark answer —

How is 'X' related to "Y'?

I. 'X' is the mother of 'Z' who is the wife of L and is the sister of Y.
IL. "Y' is the brother of "X* who has two daughters name J and S.

01. Ifstatement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

03. If each statement alone (either I or II) is 04. If statement I and II together are not sufficient.
sufficient.

0S. Ifboth statement together are sufficient, but

neither statement alone is sufficient.
= fETTT It & ST HIFT F ATEAH G [ ATARILAT TS § STIHT T MO FLATE T FA7 FAATH YA ATART STLIAH
frgaata &1 sTTHfyT-

X, Y' ¥ qafET g2
L 'X','Z &Y 71T & ST LY a1 & i Y fr a8 81
IL "Y', "X’ &7 7% & TSt 37 it J =i S 2

01. {2 et ot 1 &1 0ATH & it her 02 7f Farer A 11 &1 TATH & AT bl 9 [ T2

F 11 811
03. {3 Jeir® FA= sl (AT AT AT ) 93Te 04, 7T [ 37T 11 1 FA9 9979 2
2l
05. =fT T Fa= [ 11 UF 97 779 3
TR STERT-3TeRT 9T A3l 2l
Solution for Question 9
xX-
N o s la—0Tok
X-
Y — 7. —— 1+

Q-10

eng

The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are
sufficient for answering the question. Mark answer —

How many days did R take to complete his assignment?

I. D correctly remembers that R took more than 6 days but less than 12 days to complete his assignment.
I1. D correctly remembers that R took more than 9 days but less than 15 days to complete his assignment.

01. Ifstatement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

03. Ifeach statement alone (either I or II) is 04. If statement I and II together are not sufficient.
sufficient.

0S. TIfboth statement together are sufficient, but

neither statement alone is sufficient.
3 fETTT I & ST FIFTF ATETH G FF ATARILAT AT sTTHT T RO FLATE PrFarFaar & AT ATAFTA STLIAH
g aata &1 sTTHfyT-

R 7 3799 T3 &7 I A § fohqar foe foram?

I. DT 3761 %8 & ATE g T3 R T 310 &7 &l T F7 § 6 a7 & srfers ot 12 o & &6 form)
I D T 37T a¥E | ATE ¢ T R T 3709 &1 &0 [T &3 | 9 fa7 | srferas oty 15 fam & 6 form)

01. Ff et o 1 &1 0ATH & i et 02 7f Farer e [1 &1 TATH & <Afhe bl o [ A2
EREBIEET



03. ?W%wﬁﬁ(m%ﬁlmn)wﬁr 04. =rf3 [ i< I <191 A 91 2
[
05. =g T Fa9 [T 11 UF 9T 9379 3
AT STET- 31T 9T g 2l
Solution for Question 10
eng 1.7,8,9,10, 11
II.10, 11,12, 13, 14
I+ 11
10 or 11
hi 1.7,8,9,10, 11
II.10, 11,12, 13, 14
I+ 11
10 or 11

Q-11 The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are

eng sufficient for answering the question. Mark answer —

How is the word ‘NOTES’ coded in the code language?

I. ‘MOUNT"” is coded as '82501°.
II. ‘DOES’ is coded as ‘6239’.

01. Ifstatement I alone is sufficient but 02. TIfstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

03. If each statement alone (either Ior II)is ~ 04. If statement I and II together are not sufficient.
sufficient.

05. TIfboth statement together are sufficient, but
neither statement alone is sufficient.

Q-11 = fRATAT YT & SV FAATF ATeAH { FZHATAHAT A AL E R 7 RFT FIAT PR FAr gV A AT ATARTH INIAF

hi g aata &1 sTTdffye-
UF Fe AT § ‘NOTES’ FT #H Fleag AT S1ar g2
L. ‘MOUNT” T '82501' #T T¥E Fedx AT SITaT &
I ‘DOES’ &7 '6239' T T3 Feaa (a1 91T 2

01. f% Faet Fo 1 & TATH & At Fadr 02, 7f Tt F97 11 &1 T ¢ AT el F [ Tl

EREBIEET
03. Irf wer oI st (AT AT [ AT 1) 7 04, T3 [ 37 11 EA1 oI ST gl
2l
05. =rfg T Fa= [ 11 UF 97 93979 3
ST STAT-SERT TITH el gl
Solution for Question 11
eng MOUNT DOE S
NIRREEAR
82501 e 08
NOTE S
RN
021389
H MOUNT DOE S
NIRREERAR
82501 6239
NOTE S
[T
02139



Q-12 The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are
eng sufficient for answering the question. Mark answer —

If among four friends B is taller than C, who is the tallest among them?

I. A’sheightis less than B and C’s height is more than D.
I1. B’s height is less than D.

01. Ifstatement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

03. Ifeach statement alone (either IorIT)is ~ 04. If statement I and II together are not sufficient.
sufficient.

05. Ifboth statement together are sufficient, but
neither statement alone is sufficient.
Q-12 T fawagwst & T FITEF ATeAN A FF ATTHIAT A UL E swuawr 7g Aofar F2a1§ FFaarsanr § o qaard o s
hi fagaata &1 sTTdHfoe-

Ff =% fo= § § B, C & %=1 § A1 i S & qa9 T 87

I A#F &S BHFH g 3T C T F¥a1s D ¥ I3 2
I Bt TS D ¥ 79 2|

01. ZfT Faed FI9 [ &1 TATH g AT daar 02, TS Fae FA [ &1 TATH & AT el Ha [ Tall
F 11 A1
03. {3 Jears e sl (AT AT AT ) 9ot 04, 71f [ 3R 11 21 FI9 9979 2
El
05. =z ST FI 1 7 11 UF 779 977 &
AR STAT- ST TATH A5l 2l
Solution for Question 12

eng C>D>B>A
hi C>D>B>A

Passage for Question 13, 14, 15, 16, 17 (ST-00SRRBCLERKPRE(13-17R)2020)
eng Passage

Study the following alphabet symbol-digit sequence and answer the question given below it.

M%IN2Q@ARS#36TIJSKD7*W$4

hi Passage
et ssgvadssis w0 F1reaaT AT a9 % 73 w01 F saehfom

M%IN2Q@ARS5#36TIBKD7*W§$4

Q-13 How many such vowels are there in the above arrangement, each of which is immediately preceded by a symbol and immediately followed by a consonant?
eng

01. None 02. One
03. Two 04. Three

05. More than three
Q-13  SUAIH et § UH fa @ 2, TS & 90 % T Tgl U T iF 7 T 912 UF 490 52

hi
01. =rs st 02. w=w
03. =y 04. HiF
05. fi= & erfere

Solution for Question 13
eng M%IN2Q@AR5#36TI8KD7*W§4
hi M%IN2Q@AR5#36TI8KD7*W$4



Q-14 How many such symbols are there in the above arrangement, each of which is immediately preceded by a symbol but not immediately followed by a
eng consonant?

01. None 02. One
03. Two 04. Three

0S. More than three
Q-14  STIH =T § UH e Tai &, S & T % I T8l UF T 1% & 93q O a1& U S qal 87

hi
01. =< gl 02. T
03. =7 04. i
05. e & srfarw

Solution for Question 14

eng None

hi FIE TRl

Q-15 How many such consonants are there in the above arrangement, each of which is immediately preceded by a even number?

eng
01. One 02. Two
03. None 04. Three

05. More than three
Q-15  STRE =HaeT § UH fhad =5 8, o8 § Tois & qid Tgd UF 99 3F 872

hi
01. = 02. =7
03. Fr$ TS 04. Fi
05. = & srfers
Solution for Question 15
eng M%OIN2Q@ARLS#36TJBKD7*W54
hi M%OIN2Q@ARLS#36TJBKD7*W54

Q-16 Four of the following five are alike in a certain way based on their positions in the above arrangement and so form a group. Which is the one that does not
eng belong to that group?

01. 3RKD 02. N9RM
03. SKQD 04. 3TWJ
05. 7D*M

Q-16 I FHATAT H AT T 6 1L T WHfriad qi= § § A7 et The q01 ¢ od: UTF T a91d 8| 9 TF i 97 8 S 27 T4 | Tal
hi AT E?

01. 3RKD 02. N9RM
03. @Q5# 04. SKQD
05. 7D*M

Solution for Question 16

eng Only option 5 has a symbol.
hi Faet faweT 5§ Tt g

Q-17 If all the numbers in the above arrangement are dropped then which of the following element will be seventh from the right end?
eng

01. M 02. A
03. & 04. o

05. None of these
Q-17 ST FAFEAT § I T d=amd geT &1 S, a1 Feferfed #§ & F9-97 9 a0 G F qraat ge?

01. M 02. A



03. & 04. o
05. =H q FIE A1
Solution for Question 17

eng
M%BNQ@AR# T JKD*WS$
e

M%BNQ@AR# T JKD*WS$
_

Passage for Question 18, 19, 20, 21, 22 (ST-00SRRBCLERKPRE(18-22R)2020)
eng Passage

Read the following information carefully and answer the questions given below.

Eight friends A, B, C, D, E, F, G and H are working in three schools MRS, FGS, HDS and are posted at different cities viz Chennai, Bangalore, Kolkata, Delhi,
Mumbeai, Hyderabad, Chandigarh and Lucknow but not necessarily in the same order. At least two and not more than three friends work in any of the three
schools. B, who works in MRS school, is not posted in Chennai and Delhi and the friend who is posted in Mumbai does not work with B and E. E works in HDS
School and the worker of HDS School are not posted in Channai and Delhi. The friend who works in FGS School is not posted in Lucknow and Chandigarh. F
who works in FGS School is posted in Kolkata. H who works with B is posted in Hyderabad. C, who does not work with H and F, is posted in Lucknow. The
friend, who work in MRS School, is not posted in Chandigarh. A is not posted in Chennai and Delhi.

hi Passage

e R w1 saragd s afgw od A9 R o wst & s difm

M5 T A, B, C, D, E, F, G 3T H 9 ¥ MRS, FGS 3f¥ HDS & FT3 &7 T3 &7 f9a-2 org2i 9+, S, wrasar, fiedt, g s, gaars, 9Sne
T TGS | (A< § AT STl Agl ol HF H| FH o FF QT 31T ATAHAT 19 I1ed d19 TRl | 7 et TF § F1H F7d g1 B ST MRS TR § FHTH HLam
& S i et § g gl 2 o a8 <1 S qvas # =4 & B 31T E % a1 13 921 #¢aT g1 E, HDS ¥ § %74 a7 | HDS T/ § FTF F7
1T 7 ot AL Y el 7 s 72t &1 57, ST FGS ¥ § 14 2T g, T oY 92z § 9= 781 g1 F, FGS Tt  FTH FaT1 g #iT
FIAFT H FI<H g1 HSIT B % 9719 T3 F3d7 g g2 0aTE § I g1 C, ST H 3T F % 9T 1 Ag] #3d1 &, AadS H [+ gl I1&d, ST MRS ¥ | F714
T &, ISR | s 72t 81 A 39S oire faeett # fReges 721 2

Q-18  Inwhich of the following schools does D work?
eng
01. HDS 02. MRS
03. FGS 04. Cannot be determined
05. None of these
Q-18 = # & fF =@ & D F1d F2aT1 22
hi
01. HDS 02. MRS
03. FGS 04. T 7T FT el
05. =8 F FIE Tl
Solution for Question 18
cng Friend School City
A FGS Mumbai
B MRS Bangalore
C HDS Lucknow
D MRS/ FGS Chennai / Delhi
E HDS Chandigarh
F FGS Kolkata
G MRS/ FGS Chennai / Delhi
H MRS, Hyderabad
hi i = R
A FGS ok
B MRS #matr
c HDS S—
D MRS/ FGS eerd | e
E HDS s
F FGS T
G 'MRSIFGS | aeer$ | Rreelt




| H | MRS | e |
Q-19 In which city A is posted?
eng
01. Mumbai 02. Bangalore
03. Chandigarh 04. Chennai
05. Lucknow
Q-19 AFmeagrdEfgTe?
hi
01. ww=rs 02. AT
03. =Ehre 04. I
05. SETs
Solution for Question 19
eng | Friend School City
A FGS Mumbai
B MRS Bangalore
C HDS Lucknow
D MRS/FGS | Chennai/ Delhi
|E HDS Chandigarh
|F FGS Kolkata
G MRS/FGS | Chennai/ Delhi
H MRS Hyderabad
hi A i3 Gl W
A FGS ﬁﬁf:
B MRS Fmat
€ HDS ——
D MRS/ FGS etk | feh
E HDS B
G MRS/ FGS Herd | Beel
H MRS tmg
Q-20  Which of following schools have three friends?
eng
01. HDS 02. MRS
03. FGS 04. Cannot be determined
05. Both MRS and FGS
Q-20 =¥ % v o § i Teq &2
hi
01. HDS 02. MRS
03. FGS 04. fRerifea 72T T T

05. =97 MRS 3fiT FGS

Solution for Question 20

eng | Friend School City
A FGS Mumbai
B MRS Bangalore
c HDS Lucknow
D MRS/FGS | Chennai/ Delhi
|E HDS Chandigarh
|F FGS Kolkata
G MRS/ FGS Chennai / Delhi
H MRS Hyderabad
hi are = T
A FGS ot
B MRS dmat
G HDS ——
D MRSIFGS | awerd / Rt
E HDS e
F FGS JRr—
G MRS/FGS | wwerd/ ol




Q-21

eng

iH iMRS I%mm: |

If D works in MRS school, which of the following group of friends work in FGS School?

0l. GFB 02. GFA
03. HGB 04. CGA
05. CBA

7fZ D, MRS TFe § w14 F:7dT 2, Al (9% Tedl % 99 H 7 F9 FGS THA H FTF F7dT1 52

01. GFB 02. GFA
03. HGB 04. CGA
05. CBA

Solution for Question 21

eng

Q-22

eng

Friend School City
A FGS Mumbai
B MRS Bangalore
C HDS Lucknow
D MRS/ FGS Chennai / Delhi |
|E HDS Chandigarh
|F FGS Kolkata
G MRS/FGS | Chennai/ Delhi
'H MRS Hyderabad |
ZRe = M
A FGS wrat
B MRS et
C HDS e —
D MRS/FGS  |awd/ Reeeht
E HDS g
F FGS G
G MRSIFGS | aweré/ Reeeht
H MRS s

If D works in FGS School and he is posted in Delhi, which of the following combination of friend, school and city is not correct?

01. G- MRS - Chennai 02. B-MRS - Bangalore
03. A -FGS - Hyderabad 04. C-HDS -Lucknow

0S. E-HDS - Chandigarh
7f% D, FGS ¥ # F1d FaT ¢ o7 faeett # fqes & a1 e # & i &7 arq, T 37 g7 F7 =T el Tal 82

01. G-MRS-3% 02. B-MRS - ST
03. A -FGS - ga¥rar 04. C-HDS - 7@s:
05. E-HDS - JEre

Solution for Question 22

eng

Friend School City
A FGS Mumbai
B MRS Bangalore
C HDS Lucknow
D MRS/ FGS Chennai f Delhi |
|E HDS Chandigarh
|F FGS Kolkata
G MRS/FGS | Chennai/ Delhi
'H MRS Hyderabad |
o = M
A FGS wrat
B MRS et
C HOS E——
D MRS/ FGS et | Bt
E HDS Forre
F FGS T
G MRSIFGS | uwd/ Redhl




F [ [em |

Passage for Question 23, 24, 25, 26, 27 (ST-00SRRBCLERKPRE(23-27R)2020)
eng Passage

Read the following information carefully and give the answer of the following questions.

Eight persons [, H, M, U, R, Z, D and A all are sitting in a row, facing towards the South direction. All like different cars as Figo, Skoda, Pajero, Safari, Zen,
Baleno, Datsun and Alto (Not necessarily in the same order).

M and U are not sitting at an end of the row and like Skoda car and Safari car respectively. The person who likes Pajero car is sitting at the left end of the row. A is
sitting third to the left of I and second to the right of H. A likes Alto car. R is sitting just left to M and Z does not like Zen car. D does not like Datsun and Zen cars
and he sits to the immediate right of Z. R and Z are not at any either end. The car Figo is liked by the person who is third from the right end.

hi Passage

T TEATTFTE FT LAY F T off T et vt & sgedfom

M 3T U ufer o foreft off 2 a2 At 9% 8 oY Ter: ThieT T8 Ud O T T8E FLd gl ST oI T T86E FLdT g a8 Uik & 970 S T ST 281 A, [ F
FTU AT 3T H F 37T O T3T gl A, el FTY T8 F2aT gl R, M F T aT0 927 @ #fi¥ Z, 59 FHTY THE A5l F2dT gl D, TTEA 3T S 1Y T6e 75l
FIAT 8 S1¥ qF Z F & a0 3T F3T1 g1 R =¥ 7 et o e ow 727 €1 12 e 5o =ixe g oo Y Sl & S 370 & | e €

Q-23 Which of the following persons is/are sitting at the right end of the row?

eng
01. H 02. A
03. M 04. D
05. U

Q-23  Trwmfrfa & & 31 ar =i 9% ¥ a0 Gv 17 2722

hi
01. H 02. A
03. M 04. D
05. U

Solution for Question 23

eng Baleno Datsun Figo Skoda Zen Alto Safari Pajero
T U v v v v v W
D zZ I M R A U H
i R fEw R w3 ) wwd W
S5
o z [ M R A u H

Q-24  Which of the following persons likes Figo car?

eng
01. U 02. R
03. | 04. H
05. A

Q-24  fRwforfea & & Fi |7 =f<w o F12 762 Fa1 82

hi
01. U 02. R
03. | 04. H
05. A

Solution for Question 24

eng Baleno Datsun Figo Skoda Zen Alto Safari Pajero

_Ll.-'] | —l HI_ (o | e | i | HL
CIE T I S R
D zZ I M R A U H




gt Fema e wREr 99 el IO gonr
F A S W e
D z | M R A u H

Q-25

eng

What is the position of that person who likes Skoda car?

01. Fourth from the right end 02. Second from the right end
03. Third from the right end 04. Second from the left end

05. In the middle of the row
I SATE T AT FT ¢ S ThIeT HIT THE FAT 52

01. =70 Z & = 02. =TT e & gaT
03. 370 e & qrET 04. =TT e & gET
05. oftrF Hea #

Solution for Question 25

eng Baleno Datsun Figo Skoda Zen  Alte Safari Pajero
| — — HI_ (o | e | | e |
IR I R R A R
D z I M R A u H
hi
o feEs e wE 99 dfed Oe ooy
VOV VYV VY VYV
D z | M R A u H
Q-26 What is the position of A with respect to R?
eng
01. Justleft 02. Justright
03. Second to the left 04. Second to the right
05. Third to the left
Q-26 RFFETHAF FafaFma?
hi
01. @'{—cr 1L 02. @”{—qr T
03. F7d gET 04. =70 gET
05. o T

Solution for Question 26

eng Baleno Datsun Figo Skoda Zen  Alte Safari Pajero
| — — HI_ (o | e | | e |
WO OWE N %S R NS XD
D z l M R A u H
hi
o feEs e wE 99 dfed Oe ooy
v OV VY VWV VYWV
D .l | M R A U H
Q-27  Which of the following persons is/are neighbour of Z?
eng
01. | 02. M
03. R 04. A
05. U
Q-27 fA=fofad @ & #1 a7 AT Z F7 925H6 82
hi
01. | 02. M

03. R 04. A



05. U
Solution for Question 27

eng Baleno Datsun Figo Skoda Zen  Alto Safari Pajero
- — = =1 = o] ity =
SIS I
D Z | M R A U H
hi
oA STEa T e S9 dfed @9 TeRt
I
D Z | M R A U H

Q-28 In each questions given below four statements are followed by two conclusions numbered I and I . You have to take the given statements to
eng be true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements:-

Some O are R.

AllR are B.

Only a few B are W.

All W are L.

Conclusions:

I. Some B are not W.

II. Some L not being B is a possibility.

01. Only conclusion I follows. 02. Only conclusion II follows.
03. Either conclusion I or II follows. 04. Neither conclusion I nor II follows.

05. Both conclusions I and II follow.
Q-28 A TAFTAH ATLFIT A TN 5w [T 11 FErw g § )| aff F9971 F7T 9 AT §U AR T ATAT-IAAT LT AT & FUTwF+q7 T80
hi AHTT HTIETHLAIRTIZIT FLATR FHHIT F [A5FhS TITHF €T F AT FIATVHQ 2/8 |

ER G R

FZ 0, RE

T R, B 2l

FAT FZ 2l B, W gl

Tt W, L g

fearswef:

I 2 B, W 721 &

1L % L % B &1 g9 &l §91aHT g

01. fAoehel T & Hor 2T 2l 02. feeehel 1T SEeor F7dT 2|
03. 77 qr e [ 37 FoRT 11 S qaor Fear gl 04, 7 a1 fAeawe [ 32 7 & 11 7H20r F7aT 2
05. e [ 37 11 FET ATHLT F2d 2

Solution for Question 28

eng

Q-29 In each questions given below four statements are followed by two conclusions numbered I and II . You have to take the given statements to
eng be true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements:-
Some O are R.
AlIR are B.



Only a few B are W.
All W are L.
Conclusions:-

I. Some L are R.
II. Some L are O.

01. Only conclusion I follows. 02. Only conclusion II follows.
03. Either conclusion I or II follows. 04. Neither conclusion I nor II follows.

05. Both conclusions I and II follow.
Q-29 A TAFTTH ATLFIT A TN 5w [T 11 FEw g § )| a5t F9971 FT 9 AT §U (AR T ATATIAAT LT AT & T F+a1 T80
hi AHTT HTIETHLAIRTIZIT FIATR (FHHIT d [A5HhS TR F €T F AT FIATVH 2/8 |

hye:-

FZ O, R El

T R, B 2l

FAT FZ 2 B, W gl
Tt W, L gl
fAe:-

L FZL,REI
ILFI L, 07

01. fAroehed T & Hor 2T 2l 02. feeehel 1T SEeor F7dT 2|
03. 77 qr e [ 47 FohT 11 SIqaor Fear gl 04, 7 ar feawe [ 32 7 & 11 7H20r F7aT &
05. e [ 37 11 FET AT Fd 2

Solution for Question 29

eng

Q-30 In each questions given below four statements are followed by two conclusions numbered I and II . You have to take the given statements to
eng be true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements:-
NoMis P.

Some P is C.

AllCare L.

NoLisT.
Conclusions:-

1. Some C are not T.
II. Some C are not M.

01. Only conclusion I follows. 02. Only conclusion II follows.
03. Either conclusion I or II follows. 04. Neither conclusion I nor II follows.

05. Both conclusions I and II follow.
Q-30 A TAFTAH ATLHFIT AN AsHS [T FTT Q| T FI97 FT T AEA T (TTE T ATATAAAT TG aA | & T FAT T8N
hi syt &1 IEHT AMIFT TEIT FIATE T FI9 & ows q1fRa €T F A0 FITTVFHIT 878 |

-

TS M, P 721 2
FZ P,CEl
adr C, L gl
FIE L, T2l



e
I 2 C, TZ &
IL %5 C, M 751 8

01. Rty [ (0T F7aT 2 02. TR I AT AT 2
03. =7 a7 fAewd [ 97 FRe [l e Fear g1 04. a7 feae [ 37T 7 2 11 1a<or Far 2
05. e [ 37 I FET ATH0T Fd 2

Solution for Question 30

eng

Q-31 In each questions given below four statements are followed by two conclusions numbered I and I . You have to take the given statements to
eng be true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements:-
NoMisP.

Some P is C.
AllCare L.
NoLisT.
Conclusions:-

I. Some P are not T.
II. Some L are P.

01. Only conclusion I follows. 02.  Only conclusion II follows.
03. Either conclusion I or II follows. 04. Neither conclusion I nor II follows.

05. Both conclusions I and II follow.
Q-31 A TIAFTTH ATLFIT AT 5w [T 1 FRT g § | asff Fo91 FT 9 AT §T (AT T ATATIAAT T AT & P w+q7 780
hi frswut T IEHTAIRT T TT FIATR T FIT § Ao s IR €T F S0 FITTVHIT 878 |

FAT -
S M, P 721 2
FZ P,C &l
Tdr C, L&

s L, T =1 8l
oo

I. FWP,TAZI 2

ILFIL,PEl

01. T [ SHT F2aT 2 02. AT [1 AT FaT &
03. o7 a7 fewd [ 97 Rz [ e wear g1 04, F a7 fAeae [ 37T 7 2 11 1T 7ar 2
05. T [ 3T 11 2T STIET F7d &l

Solution for Question 31

eng



Q-32 In each questions given below four statements are followed by two conclusions numbered I and II . You have to take the given statements to
eng be true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements:-

Some W are B.
NoBisR.

Some R are Y.

Some Y are G.
Conclusions:-

I. Some G are R.
I1. Some Y are not B.

01.  Only conclusion I follows. 02.  Only conclusion II follows.
03. Either conclusion I or II follows. 04. Neither conclusion I nor II follows.

05. Both conclusions I and II follow.
Q-32 A TAFTITH ATLFIT AT Ashd [T FET Q| aff FI97 FT GG AT T (ATS T ATATAAAT T AT & U 7T T 8N
hi frswut 1T IZHT AIFRT T IT FIATE T F19 & owe a1 s €T F Ao F#ITTHIT 878 |

FAT -
T W, BEI

&S B,R %1 2
FER, Y &
FZY,GEl
s -

L. TG, RE
IL %2 Y,B7&l 2l

01. R} [ (0T F7aT 2 02. TR I AT AT 2
03. =7 a7 fAed [ 97 Rz [l e Fear g1 04. a7 feae [ 37T 7 2 11 10T Far 2
05. e [ 37 I FET ATHTT Fd 2

Solution for Question 32

eng




T —— D |
Q-33 In each of the following questions, assuming the given statements to be true which of the conclusion is definitely true?

eng
Statement:

A>B<C>=2D>E>F
Conclusions:

I. A>C

II. C>F

01. Ifonly Iis true. 02. Ifonly I is true.
03. Either I or Il is true. 04. Neither I nor 11 is true.

05. Both I and II are true.
Q-33 = fad guwsdi d T AT | 97 F 1 qcq A gCIATY {5 F17 a7 fAsad Afaasqd aca @2

HYT
A>B<C>D>E>F
IRLED

I. A>C

II. C>F

01. =f% Faer 17T 2 02. 7f2 Fae 1 77 2
03. T AT 4T 1 &eT 04. FAIATTET M TA LN
05. ZT IS 17T &

Solution for Question 33

eng A>B<C2D>E>F
I. A> C (False)
II. C>F (True)

hi A>B<C=2D>E>F
I A>C (3197)

I C > F (FcY)

Q-34 In each of the following questions, assuming the given statements to be true which of the conclusion is definitely true?

eng
Statement:

G>M>T>V<R=E
Conclusions

I.LT>M

II. E>V

01. Ifonly Iis true. 02. Ifonly I is true.
03. Either I or Il is true. 04. Neither I nor II is true.
05. Both are I and II are true.

Q-34 TR RAZTTA T TAF R FITFT T AN g IATT F5% F17 97 fswd Rfgsaq aca @2

FAT:
G>M>T>V<R=E
Aoy

LT>M

II. E>V

01. =fg Fa=r [T 02. =fg Faer M FeT 2
03. FT AT AT HT &) 04. TATIHT TET I TT B
05. ZET 1T 1| )

Solution for Question 34

eng G>M>T>V<R=E

L T>M (False)
ILE>V (False)



hi G>M>T>V<R=E
. T>M (3'1??«’1')
ILE>V @H)

Q-35 In each of the following questions, assuming the given statements to be true which of the conclusion is definitely true?

eng
Statement:

%=>8$< *>&=#>M
Conclusions:

L*<M

IL *>#

01. TIfonlyIis true. 02. TIfonly I is true.
03. Either I or IT is true. 04. Neither I nor IT is true.
05. Both are I and II are true.

Q-35 FA= XA guwdi d TAFH 97 FT T AT §CIATC FF 17 a1 fswd Afasaa aa g2

hi
R

%>$< *>&=#>M
Ao
L*<M
IL * > #

01. =fg Faar 19T 2 02. =f3 Faer I HT 2
03. FTATIATIIHA & 04. T T[T TET 1T B
05. =T 1 3T 11 7T 21

Solution for Question 35

eng %>%<*x > & = # > M
I.*<M (False)
IL. *># (True)

hi

%>$<x > & = # > M
L*<M (3FA)
IL *># (Acd)

Q-36 Sumit walks 9 km towards east then he turns left and walks 6 km. Again he turns left and walks 5 km. At last he turns right and walks 6 km. How far is he
eng from his starting point?

01. 11.15km 02. 1537 km
03. 12.65km 04. 9km
05. 7.12km

Q-36  FfHa w& ¥ <rv 9 T Strar & fhe a0 qear & siw 6 T sromar 81 O 970 q=ar 8 oie 5 BT st 21 3T § 9 20 e § $iT 6 e semr
hi g1 Tg oI e faeg | fohaet 32 82

01. 11.15 ey 02. 1537 frey
03. 12.65 freT 04. 9 et
05. 7.12 fefy
Solution for Question 36
eng
/
/|6
/s
/ |
i [
4 | 6
.
9



Passage for Question 37, 38, 39, 40 (ST-00SRRBCLERKPRE(37-40R)2020)
eng Passage

Study the following information carefully and answer the question given below.

Aliya, Babita, Charu, Divya, Ema, Firoz, Geeta, Hemant and Kunal are sitting around a circle facing the center. Firoz is 4th to the right of Aliya who is 3rd to the
right of Babita. Kunal is 5th to the left of Babita and 3rd to the right of Divya. Charu is 3rd to the right of Hemant who is not near to Kunal. Ema is 2nd to the left of
Geeta.

hi Passage

Fafafaa TTasTd &1 eamgd® Aegga L A= fRuagyrFraacd

rforaT, Fetar, =T, fee, 28T, R, far, Z6a T O #% % AT 3@d g0 UH 99 & 910 MY 96 g TRIsT sfrferdr a0 ST =Jr&T & ST J&iar &
ZT0 AT {1 FHOTTer AT % &g qi=at e T 3 a0 o g1 =A7% g6 F S0 A6 g S /T o qH A2 g1 SHT, TG F 9 g8 T g

Q-37  Which of the following statements is true?
eng

01. Geeta is exactly between Firoz and Charu. 02. Firoz is the neighbour of Ema.
03. Ema is exactly between Divya and Geeta. 04. Divya is exactly between Kunal and Hemant

05. None of these
Q-37 fAwforiad @ § 19 & Fo 97 82
hi

01 fqr, W AT A= FAF =78 02, 50w Sur w1 a2 81
03. <, e ofie far & i A= 7 2 04. =T, FOT AT THA F SF FAHE
05. =i i 4TS T

Solution for Question 37

eng Firoz
Geeta
. Ema
Babita
Divya Charu
Kunal
Hemant
Aliya
AT
CEIGI
lac.III IR
i IR
gad =
IR

Q-38  Whatis the position of Hemant?
eng

01. On the immediate left of Aliya. 02. Exactly between Charu and Firoz.



03. Exactly between Divya and Firoz. 04. On the immediate left of Kunal.

05. None of these
T T fRafa #4782

01. sferT % = a1y =7 02. =1% & foRarst 3 219 o= )
03. 2= 3T fRarst & 21 = H) 04. U F e ATU AT
05. ZH & #E AL

Solution for Question 38

eng

Q-39

eng

Firoz
Geeta

Babita Ema

Divya Charu

Kunal

Hemant
Aliya

afrar
CEIG

%?:iar C

What is the position of Ema?

01. 2nd to the left of Hemant. 02. 3rd to the right of Firoz.
03. On the immediate right of Divya. 04. Exactly between Geeta and Kunal

05. None of these
T T ot w82

01. Zq % aTd gady 02. RT3 a0 ey
03. =T % g =10 04. TfaT ST FomTer % 2 A= A
05. =i & FrE T

Solution for Question 39

eng

Firoz
Geeta

Babita Ema

Divya Charu

Kunal

Hemant
Aliya

gerar

Fyap=i 2



e

Q-40  Whois to the immediate right of Firoz?
eng

01. Babita 02. Geeta
03. Ema 04. Data inadequate

05. None of these
Q-40 RIS % T T4 FA 2

01. F&tar 02. far
03. Zu7 04. Zar oAy
05. zit 7 é T

Solution for Question 40

eng Firoz
Geeta

Babita Ema

Divya Charu

Kunal

Hemant
Aliya

afrar
CEIG

g ShUTe]
gAd =

Q-41 Find the value of variables and state the correct relationship-
eng .

T M= 0

Tai—y —30=0

01. X>y 02. X > y

03. x< y 04. x <y

05. x=y or relationship can’t be established

Q-41 =0 T HIT TG HITS TAT Tl e TTAT hiTord-
Ix'+x-20=0
Oy -y -30=0

0L x>y 02. x>y
03. x<y 04. x<y
05. x—y IT Haer TATUT A5l AT ST THaT &

Solution for Question 41

eng x=14,-5 y=+6, -5

hi x=+4,-5 y=+6, -5

Q-42 Find the value of variables and state the correct relationship-

eng i
Ix-16=10



01. X>y 02. x> y
03. x< y 04. x <y
05. x=y or relationship can’t be established

Q-42 IO FTATT ATT HIO(A TATHET g TATiUT FIivrT

Ix'—16 = 0
TP —9y +20=0

0L x>y 02. x>y
03. x<y 04. x<y
05. x—y IT Haer TATUT Tl AT ST FHaT &

Solution for Question 42

eng x=4,-4y=4,5y>x

hi x=4,-4y=4,5y>x

Q-43 Find the value of variables and state the correct relationship-

eng
Ly_.f121 =0
T1'—121=0
01. X>y 02. xzy
03. x<y 04. xSy

05. x=y or relationship can’t be established

Q-43 FAUFTATTATT HITIA TAT AR G e TATIAT HIForA-

hi
Ly 121 =0
Tar—121=0
01. x>y 02. Xzy
03. x<y 04. XSy

05. x=y IT Haer TATOT A1 AT ST FHAT &
Solution for Question 43
eng x=11
y=11,-11
Xy
hi x=11
y=11,-11
XZy

Q-44  Find the value of variables and state the correct relationship-

eng
4x2-17x+18=0

4y2-21y+26=0

01. x> y 02. x >y
03. x< y 04. x <y
05. x=y or relationship can’t be established

Q-44  FTUFTHTT IATT HIA TAT TR o eq7ia Fiira-
hi

4x2-17x+18=0

4y2-21y+26=0

01. x>y 02. xEy
03. x<y 04. xSy
05. x=y 3T Hefer =TT ! AT ST THAT &



Solution for Question 44
eng x=2.25,2 y=3.25,2 hence relationship can’t be established

hi x=2.25,2 y=3.25,2
ITq: TTel LTI el fohaT ST Tkt &

Q-45 Find the value of variables and state the correct relationship-

eng .
I3x +8x+4 =0

T4y =19y +12 = 0

01. X>y 02. X > y
03. x < y 04. x< y
05. x=y or relationship can’t be established

Q-45 FUFTATAATT IS TATHET GG €ATIAT HIT14-

I35 +8x+4 =20

T4y — 19y +12 =0

01. x>y 02. x>y
03. x<y 04. x<y
05. x=y T Fay &TfOq 1 6T ST HoFaT

Solution for Question 45

x=__2,-2};i 4  x<y
3 4

hi )
-
3

eng

,-2y=i ,4 x<y
1

Passage for Question 46, 47, 48, 49, 50 (ST-06 CWEPO (111-115) 2014)
eng Passage

Read the following table carefully and answer the questions given below.

Number of students in seven institutes in various years

Number of students in seven institutes in various years

Institute — A B Cc D E F G
Years

2007 650 620 740 780 680 640 750
2008 720 580 720 800 720 600 700
2009 730 640 760 820 730 620 800
2010 750 560 750 760 670 660 820
2011 680 650 780 790 690 760 740
2012 690 630 730 810 700 740 720
2013 740 660 720 840 660 700 780

hi Passage

Frarferfe areoft #7 sar@® steaawae i & T3 T % 392 )

farra aut # W wxeEl | faenféiat & e

I — A B C D E F G
ay 4

2007 6350 620 740 780 630 640 750
2008 720 280 720 800 720 600 700
2009 730 640 760 820 730 620 800
2010 750 560 750 760 670 660 820
2011 680 650 780 790 690 760 740
2012 690 630 730 810 700 740 720
2013 740 660 720 840 660 700 780

Q-46 If 70% students passed from all institutes in 2008, how many students passed from all the institutes in 2008?
eng

01. 3080 02. 3110



03. 3388 04. 3210

05. 3259
Q-46 =[x 2008 & Tt FEATHT 7 70% FE=mfT S<hol gu ar @it Feamt 7 2008 § F1 Fohaw fF=mdt @ g
hi

01. 3080 02. 3110

03. 3388 04. 3210

05. 3259

Solution for Question 46

eng 70
Number of students = 4840x 100

= 3388

) . 70
faenfelat o1 < = 4840x T80

= 3388

Q-47 The number of students in institute D in 2012 is approximately what perentage of the total number of students in the same institute in all the years together?
eng

01. 18 02. 22
03. 25 04. 10
05. 14

Q-47 2012 % & D | =t &t swean a+ft aut § ferne et dem % =t i Fo deam w7 o fBhaq giaed 22

01. 18 02. 22
03. 25 04. 10
05. 14

Solution for Question 47

810
eng Percent = -0 100

= 14 (approx)

hi 810
gRET = — 0 %100
5600

= 14 (FFT4)

Q-48 What is the respective ratio between the total number of students in institute A, B and C together in 2009 and total number of students in institutes E, F and
eng G together in 20117

01. 71.73 02. 110:113
03. 73:71 04. 72:71
05. 113:124

Q-48 2009 T AT A, B 3T C 7 Foerae o=t &t 1 97 3 2011 | €47 E, F 3T G # Faae A=t it Fo Sear % o= Ha9T: ST
hi FIT 82

01. 71:73 02. 110:113
03. 73:71 04. 113:110
05. 113:124

Solution for Question 48

eng Ratio =2130: 2190
=71:73

hi AT =2130: 2190
=71:73

Q-49 What is the difference between the total number of students in all the institutes in 2008 and the total number of the students in all the institutes together in
eng 2010?

01. 135 02. 138



03. 132 04. 130

05. 125
Q-49 2008 ® Tt FeATA # et A=ttt o dear o7 2010 § T4 qeamat 7 s @ty i 7o dear F a= a7 #7182

01. 135 02. 138
03. 132 04. 130
05. 125

Solution for Question 49

eng Difference = 4970 — 4840 = 130

hi Ardl =4970—4840= 130

Q-50 I 60% of total students passed from institute B in all the years, what is the average number of passed students?
eng

01. 325 02. 372
03. 395 04. 305
05. 370

Q-50  FfT e B auft aut § |7 60% FEremft s<iol gu ar 3=l gu =it i siaa dear 7 82
hi

01. 325 02. 372
03. 395 04. 305
05. 370

Solution for Question 50

eng

Average number = 4340x% 100 x 7

=372
hi : 60 1
St T W = 4340% 57

=372

Q-51  Find the wrong term in the following number series-

ene 18 119 708 3534 14136 42405
01. 119 02. 708
03. 14136 04. 3534
05. 42405

Q-51 {7 d&aT @ | d 9% 1q Ao

hi

18 119 708 3534 14136 42405

01. 119 02. 708
03. 14136 04. 3534
05. 42405

Solution for Question 51

eng 18x7-7=126—7 =119
119%6—6="714—6 =708
708% 5—5=3540 -5 =353

5=3
3533x4-4=14140-4 =14136

#3534

hi 18x7-7=126-7 =119
119x6-6=714—-6=708
T08x5—-5=3540-5=3535=3534
3535%4-4=14140-4 =14136

Q-52  Find the wrong term in the following number series-

eng
3 35 226 1160 4660 13998



Q-52

hi

01. 226 02.
03. 1160 04.

05. 13998
% | JEeT § T9q 98 A1 o —

3 35 226 1160 4660 13998

01. 226 02.
03. 1160 04.
05. 13998

Solution for Question 52

eng

Q-53

eng

IxT+2xT7=21+14=35
35x6+3x6=210+18=228+= 226
228x5+4%x5=1140+20=1160
11604 +5x4=4640+ 20= 4660
46603+ 6x3=13980+18 =13998
IxT+2xT7=21+14=35
35x6+3x6=210+18=228= 226
228x54+4x5=11404+20=1160
11604 +5x4 =4640+ 20= 4660
4660 %3+ 6x3=13980+18=13998

Find the wrong term in the following number series-

1 4 27 256 3125 46658

01. 4 02.
03. 256 04.
05. 3125

R = e § TAd 9% 09 e -

1 4 27 256 3125 46658

01. 4 02.
03. 256 04.
05. 3125

Solution for Question 53

eng

Q-54

eng

1=1
4=27
27=%
256 =4*
3125=%

46656 =6°

Find the wrong term in the following number series-

12 237 406 527 604 657

01. 406 02.
03. 604 04.

05. 237

35
4660

35
4660

27
46658

27
46658

527
657



Q-54 % d@wT dfwa § q 97 A1q Ao -
hi
12 237 406 527 604 657

01. 406 02. 527
03. 604 04. 657
05. 237

Solution for Question 54

eng 124155=124235=237

237+137 = 2374169 =406

406+11" = 406+121=527

527+81=608 =604

608 +77 =608 +49 =657
hi 12+15% =12 +225=237

2374131 =237 +169 = 406

406+11" = 406+121=527

527+81=608 =604

608 + 77 =608+ 40 =657

Q-55 Find the wrong term in the following number series-

e 18000 3600 720 1422 288 5.76
01. 3600 02. 1422
03. 28.8 04. 576
05. 720

Q-55 e HweAt @ | e g S Ao -

hi

18000 3600 720 1422 288  5.76

01. 3600 02. 14222
03. 288 04. 576
05. 720

Solution for Question 55

eng 18000+5=3600
3600=5="720
T20=5=144 21422
144+5=288
288+5=576

hi 18000+35=3600
3600=5=720
T20+5=144+1422
144-5=2828
288=5=57

Q-56 Mixture A contains 12.5% water and mixture B contains 10% water. In what ratio both mixtures should be mixed in a bottle so that in bottle ratio of milk
eng and water be 89:11.

01. 12 02. 13
03. 23 04. 14
05. 1:5

Q-56  for=ror A § 9T 12.5% SR frror B & 9T 10% 9T € | UF arae § a1 1 o6 oiqora § fiermr =nfew arfs araer # g9 s art &7 s
hi 89:11 BT ST

01. 12 02. 13
03. 23 04. 14
05. 15



Solution for Question 56

eng Apply allegation rule (taking percentage of water)
12.5 10
11
1 1.5=2:3
hi Treror 3 =y 71 (et =6 fdera e )
12.5 10
11
1 1.5=2:3

Q-57 An article which was sold for Rs 950.4 was marked at Rs 1440. If two successive discounts were given with first being 25%, find the second discount
eng g1ven7

01. 12.5% 02. 15%
03. 12% 04. 16%
05. 18%

Q-57  UF aEq S 950.4 FHT G T 947 AT 39 9Y 1440 T 9 ${{ha FRAm 747 o7 | 7% 37 wHTIT g T ww e a9ww 25% o1, a1 gair
hi e A HItor?

01. 12.5% 02. 15%
03. 12% 04. 16%
05. 18%

Solution for Question 57

cng 1440 _&_ % _m_l = 0504
=%

hi 100-25  100—x

1440 % ® =050 4

10
I=ie

Q-58 The simple interest accrued on Rs 36000 at the end of three years is Rs. 12000. What would be compound interest accrued on the same amount for same
eng time period.(Approx.)

01. 13380 02. 13570
03. 14250 04. 13940
05. 13900

Q-58 36000 T3 I T AT F oId § AT 4TS 12000 FTF g | THIT THT STATE F o0 T T T AT Ao [ ATST AT HITSTT| (FTHT)

01. 13380 02. 13570
03. 14250 04. 13940
05. 13900

Solution for Question 58

eng > 36000=r=3

“ 3

Required answer = szr00 121510 _ 3000 = 13380

3

ITHIE 3= 3499 “_ac ~ 36000 = 13380

Q-39 Two pipes A and B can fill a cistern in 36 minute and 45 minutes respectively. If both the pipes are opened together, then after how much time should B be
eng closed so that the cistern is full in 24 minutes?



01. 9 02. 12
03. 10 04. 7

05. 15
Q-59 I UTET A ST B HHI: 36 e 3T 45 foee § U 21 97 99 g | TS AT q137 UF G197 GIl AT 8, A7 369 Toha« 997 T B T a8 HT a7
hi TR qTrH 2ot 24 Fee § T a2g 97 T2

01. 9 02. 12
03. 10 04. 7
05. 15

Solution for Question 59

eng 36 45
180
5(A) 4(B)
9x+(24-x)x5=180
x=15 minutes

hi 36 45
180
5(A) 4(B)
9x+(24-x)*x5=180
x=15 firFe

Q-60 The present age of a father is 6 years more than six times the age of his son. Six years hence, father's age will be 8 years more than thrice the age of the

eng son.
Find the present age of the father (in years).

01. 28 02. 30
03. 34 04. 32
05. 36

Q-60 T fOar T AT g TF Fe T A F T T[T 6 AT ATAF & | g AT THTT a1 T S T ¥ A7 F T T 8 AT arfaw gnfr | foar
hi FARTT & (T H) 1T Hrfor)

01. 28 02. 30
03. 34 04. 32
05. 36

Solution for Question 60

eng Sol:- ( Common)
(6x +6+6)=3 (x+6)+8
3x=14
14
DR e

&

3
Required answer=34

hi Sol:- ( Common)
(6x +6+6)=3(x+6)+8
3x=14

14

&

3

Iy =34

X

Q-61  Whatshould come in place of question mark (?) in the following questions?

cng 1 3,42
—= = £ =7
55+25+15 7
01. i 02. 1
9% 85
03. 2 04. o3
8% 9%

05. None of these
Q-61  wforiad weat ® waf=reg (?) F T 9% 619 7 S?



1,53 ,42_
5123 11Z-7

01. g1 02.
9§ a8

03. 8% 04. g3

05. =H & IS Tot

Solution for Question 61

4, =Y

=]

eng 5+2+1=8
1. 3 2
+—+

5 5 5
i)
5
hi 542+1=8

1,3, 2
it S S
5 5 5

5

Q-62  What should come in place of question mark (?) in the following questions?

eng
78.36 + 98.52 + 64.32 + 46.54 = ?

01. 287.64 02. 287.74
03. 2877.64 04. 297.54
05. None of these

Q-62  Twforiad wat | waf=reg (?) % T 9% 619 7 S?

78.36 + 98.52 + 64.32 + 46.54 = ?

01. 287.64 02. 287.74
03. 2877.64 04. 297.54
05. =a# FHIE Tor

Solution for Question 62

eng 78.36 +98.52 + 64.32 + 46.54 = 287.74

hi 78.36 +98.52 + 64.32 + 46.54 = 287.74

Q-63 What should come in place of question mark (?) in the following questions?

eng
522 x875+25%x7+5=?

01. 24587 02. 25568
03. 25578 04. 24578
05. None of these

Q-63  fawforfea woai & waferg (2) % I 9% /1 47

522 x875+25%x7+5="?

01. 24587 02. 25568
03. 25578 04. 24578
05. =H ¥ FIE 72T
Solution for Question 63
eng B 522x875x7
25x5
?=25578
hi s 5228757
25x5
?=25578



Q-64  What should come in place of question mark (?) in the following questions?

eng
700 =70 x 195 +5+999="?

01. 1469 02. 1549
03. 1479 04. 1389

05. None of these
Q-64  wforiad wat | waf=reg (?) F T I 919 7 S?

700 +70 x 195 +5+999="?

01. 1469 02. 1549
03. 1479 04. 1389
05. =i & A T

Solution for Question 64

eng 700x195
70x5

?=2390+999

?=1389

hi 700x195
70%5

?=390+999
?=1389

+999 =7

+909="7?

Q-65  What should come in place of question mark (?) in the following questions?

eng
Tustit o
5 4 8
01. 52 02. 56
03. 58 04. 6
05. 438
Q-65  wforiad weat ® weaf=reg (?) F T 9% 919 7 S?
hi
Twgd o g
5 4 8
01. 52 02. 56
03. 58 04. 6
05. 438

Solution for Question 65

eng 4 15 8

Q-66 What should come at place of question mark (?) in the following question (you need not to calculate the exact value)?

eng
28x56+12.52-33x19.5=?

01. 1075.25 02. 1080.75
03. 975.50 04. 1122.25

05. None of these
Q-66  Fwforiad wor § wor e (2) F T 9% 47 347 AT (THT GETeh HIT 1 TUET FI hl AFLTHAT Tal ©)?

28x56+12.52-33%19.5=?



01. 1075.25 02. 1080.75

03. 975.50 04. 112225
05. =7 FFHIE T4

Solution for Question 66

eng 7=937.02

hi 7=937.02

Q-67 What should come at place of question mark (?) in the following question (you need not to calculate the exact value)?
eng

01. 02.

[ )
[ I )

]

03. 3 04.

n
au

|
&
|

05. None of these
Q-67 Awfriad wor § wor e (2) F T 92 497 747 AT T (STEHT FEh HIT 6T AUET FI T AELTHAT Tal ©)?

01. 02.

[ ]

A8

[ ]

03. _. 3 04.

-
au

05. ﬁ@rqﬁ—ga—g

Solution for Question 67

7|
&
|

eng s .

res
o 8
W=t =10 ="

Q-68 What should come at place of question mark (?) in the following question (you need not to calculate the exact value)?

eng
75 % of 240 + 7% of 270 = 301.5

01. 35 02. 48
03. 45 04. 51
05. None of these
Q-68  fAwforfead wor & s fore (2) 3 ¥ 9% AT &7 AT Y (SMTHT FErF [ ohT 0T F2 il AELTHAT T2l 8)?

75 % of 240 + 7% of 270 =301.5

01. 35 02. 48
03. 45 04. 51
05. v iy 7S

Solution for Question 68

eng 301.5-80=? x 2.7
7=45

hi 301.5-80=? x 2.7
7=45

Q-69 What should come at place of question mark (?) in the following question (you need not to calculate the exact value)?
eng

ITRE0RET — 200 = 4207

01. 1.67 02. 0.33



03. 1.33 04. 0.167

05. 0.57
Q-69  fAforfad wor & wor foree (2) 3 ¥ 9% 47 &7 ATRY (JMTHT HErF HIA ohT 0T 2 i aLTHAT T2l 8)?

1560867 — 42800 = 420= 7

01. 1.67 02. 0.33
03. 133 04. 0.167
05. 0.57

Solution for Question 69

eng 420%?7=123-53
?=70/420
7=0.167

hi 420x?=123-53
7=70/420
7=0.167

Q-70 What should come at place of question mark (?) in the following question (you need not to calculate the exact value)?

eng
39.5 % of 3800 + 62.2% of 2100 + 36.6 = (?)>-181.2

01. 43 02. 51
03. 59 04. 55

05. None of these
Q-70  fAwferfd wor & wor fore (2) % 99 9% AT ST ATRY (AMThT HEF WA 7 T0ET F7 T AFeTHdqT T21 8)?

3800 T 39.5 % + 2100 FT 62.2% + 36.6 = (?)>181.2

01. 43 02. 51
03. 59 04. 55
05. i & F18 T

Solution for Question 70

eng ( Common)
7=55

hi ( Common)
7=55

Q-71 The population of a city is 278520. Out of these there are 178020 females. 75% population are literate. If 65% males are literate, what is the number of
eng literate females?

01. 92567 02. 11513
03. 20880 04. 93177
05. 92871

Q-71 T T H TAHEAT 278,520 TIZTH H 178,020 AIZHATT §l 75% TAHEAT QT § TS 65% T A& 8, AT ATET AlgaAT3Al hl AT 771 52
hi

01. 92567 02. 11513
03. 20880 04. 93177
05. 92871

Solution for Question 71

eng Literate population = 278520 x 2 = 208890
100

Literate males = 178020 x S - 115713
14k
Number of literate female = 208890 - 115713= 93177

hi HTET STEEAT = 278,520 x 13 = 208890
1)

HTET o= 178,020 x % = 115713



TTEAT HIZATSN T F&aT = 208,890 - 115,713 =93177

Q-72 Train -A crosses a pole in 33 seconds and Train-B crosses a pole in 55 seconds. The length of Train-A is three-fourth the length of Train -B. What is the
eng ratio between the speed of Train-A and Train -B?

01. 25 02. 35

03. 23 04. 54

05. 3:4
Q-72 T -ATF IS T 33 HEHE H I FHIAN & 30T oA-B T & 55 FFHe § ITT AT gl o-A FT A4S ¢ B T AaTS 0 - 19TS 1 27-A 377 29-B
hi T T o A= T ST FAT 82

01. 2:5 02. 3:5

03. 23 04. 5:4

05. 34

Solution for Question 72

eng Let length of train B is x m.
Then length of train A = = .
4

Ratio of speed = [?;_‘J X
33 55
hi AT 3 B #1 4T x Hiex 8
Hq: ?-Aﬁﬁi’e}l‘lﬁ'=%‘ Hrex
3x
T H ST = [TJ_ x

e 1T |
33 35

Q-73 A person sold % of consignment at a profit of 45% and the rest at a loss of 35%. If there was an overall profit of Rs. 1034, what is the actual cost of
eng

consignment ?
01. Rs. 5100 02. Rs. 5700
03. Rs. 6500 04. Rs. 6300
05. Rs. 5640

Q-73 1@3&%%%% AT 45% ATH T TAAT & TAT AT FT 35% T T A9qT & HA 7IA T2 I 1034 F, FHT ATH ST &, AT ATA T 11607 F4T 8 2

01. 5100 =. 02. 5700 =.
03. 6500 =. 04. 6300 =.
05. 5640 %.

Solution for Question 73

eng Let the total cost of the no. = x
2x 145 x 65

29x 13x
Tix
——x=1034
60
x =Rs. 5640

hi HTAT TE] T FT o = X &
2x 145 x G5
[?XW‘FEXW]—X—'"I;?
29x 13x
{E+J—x_1034
Tix
——x=1034
60
X =5640 %.

Q-74 Akhilesh's monthly income is three-fifth of Ritesh's monthly income. Ritesh's monthly income is Rs.32,000. What is Akhilesh's annual income ?



eng

01. Rs.2.016 lakh 02. Rs.3.4014 lakh
03. Rs.2.304 lakh 04. Rs.3.2014 lakh

05. Rs. 3.304 lakh
Q-74  stfeerer it ATREE v Sraer &t ATTHF 0T FT AT F2T T 1 A9 6T AT T .32,000 71 SEerer T aTiei o0 #4718 2

01. 2016 FME =, 02. 34014 T .
03. 2304 M=, 04. 32014 T .
05. 3304 M=,

Solution for Question 74

3

eng Akhilesh's monthly income = % x Ritesh's monthly income = = % 32000

=19200
Annual income = 19200 x 12
=2.304 lakh

hi afgerer 3 9IRS o
=gxﬁﬁﬂﬁwﬁwm

= E x 32000
h

=19200
i T = 19200 x 12
= 2.304 AT

Q-75 A shopkeeper sold an article offering a discount of 10% and earned a profit of 20%. What should have been the percentage of profit earned if no discount
eng offered?

01. 30% 02. 25%

03. 331% 04. 40%
3

05. 17%

Q-75  UF THFEIR UF a6 10% FT G2 H TFH 20% FT ATH Ao FqT g A1 IS e 7 &F SF qT FALrad AT FT R 2

01. 30% 02. 25%

03. 331% 04. 40%
3

05. 17%

Solution for Question 75

eng MRP*90% =Cp *x120%
MP : CP=120:90=4:3
If ther no discount then MRP = SP
Profit = (1/3)x100 = 33(1/3)%
hi MRPx90% =Cp x120%
MP : CP=120:90=4:3

7% 1< e TS FT ST g, I MRP = SP
ATHY% = 33% %

Passage for Question 76, 77, 78, 79, 80 (ST-214RRBCLKPRE (1-5M)2019)
eng Passage

Pie chart given below shows the distribution of the same type of article in the various shops and the table chart shows the ratio of sold and unsold
articles from various shops. Total number of articles are 4800.




HA EB mC wD mE

Shops Sold: Unsold
A 5:3
B 1:2
C 5l
D 5:4
E 7:5
hi Passage

= frgrrarars 9t fAfdra g & vF @ wH1F aegen F Faor F1 gafar g st arforsr = Afragaia aq straF guasga 5
AT HTIATATR | TEN AT [A G&AT 4800 F |

BA BB mC =D mE

TN Tereh: =& farehr
A 33
B 1:2
C T
D 5:4
E 75

Q-76 What is the ratio between sold articles of Shop C to the unsold articles of shop D?
eng

01. 43 02. 52
03. 3:5 04. 58

05. None of these
Q-76  TH C ZTT =T T T&GAT T TH D ZIT TET =1 TS et F = ST F47 82

01. 43 02. 52
03. 3:5 04. 5:8
05. =9 F FIS AT



Solution for Question 76

eng

Q-77

eng

Q-77

eng

s 600 375 225
& 1800 600 1200
o 300 250 50
D 900 500 400
E 1200 00 500
250:400 = 5:8
s 600 375 225
& 1800 | 600 1200
- 300 250 50
D 900 500 400
E 1200 Foo 500
250:400 = 5:8

By how much percent sold articles of shop B is more than unsold articles of shop D?

01. 30 02. 28
03. 50 04. 44

05. None of these
TFE B % fa% g0 a&qst i §&a1 g D F a1 @ aeqet & o wiaerd stfe g2

01. 30 02. 28
03. 50 04. 44
05. =iy 7S T
Solution for Question 77
- 600 375 225
- 1800 | 600 | 1200
c 300 250 50
D 200 500 400
B 1200 [ro0 500
> 600 375 225
B 1800 | 600 | 1200
¢ 300 250 50
D 200 500 400
E 1200 00 500

Q-78

eng

Q-78

What is the difference between the averages of sold articles to the average of unsold articles from all the shops?

01. 15 02. 20
03. 10 04. 34

05. None of these
Tquft FTAT & =T TS FEEA TAT AT I+ TAT TS F ST F A= FAT AT g2



01. 15

03. 10
05. =H ¥ HTE ST
Solution for Question 78
eng i p
s 600 375 225
£ 1800 | 600 1200
o 300 250 50
D 900 500 400
E 1200 F'oo 500
485 —475=10
hi _
s 600 375 225
H 1800 | 600 1200
- 300 250 50
D 900 500 400
7 1200 F’oo 500
485 —475=10

02. 20
04. 34

Q-79 What is the ratio between sold articles from shop A to the unsold articles from shop E?

eng

01. 43
03. 3:5
05. None of these

02. 52
04. 34

Q-79  TFT A H e arer awqelt HF g E F 7 foae arer a=qai & i F7 I #4471 82

hi
01. 43
03. 3:5
05. =98 qFIE T2l
Solution for Question 79
eng i p
e 600 375 225
& 1800 | 600 1200
4 300 250 50
D 200 500 400
.2 1200 F’oo 500
375:500
3:4
hi
b 600 375 225
B 1800 600 1200
- 300 250 50
D 200 500 400
E 1200 F’oo 500
375:500
3:4

02. 52
04. 34

Q-80 What is the total average number of unsold articles from all the shops?

eng



01. 475 02. 500
03. 525 04. 480

05. 450
Tt gl & T @ awqet it |/ siaq sear F= 8?

01. 475 02. 500
03. 525 04. 480
05. 450

Solution for Question 80

eng

TOTALFE sonfE= ursoLDaE =T
= 600 375 225
B 1800 | 600 1200
¢ 300 250 50
5 000 500 400
F 1200 700 500
BIS_ i
5
TOTALSE soLn =T insoLnE B
* 600 375 225
B 1800 | 600 1200
¢ 300 250 50
5 200 500 400
E 1200 700 500
2375




